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ENGLISH GENERAL

Full Marks : 60

   Time :  3 hrs.

Students should answer in their own words as far as practicable.

1.
Answer any TWO of the following :




[12 x 2 = 24]
a.
Do you agree with the view that Tennyson’s Ulysses is a poem of escape? Give 
reasons for your answer.

b.
Comment on Browning’s presentation of the lover in The Last Ride Together.
c.
Write a note on the theme and imagery of Yeats’s The Wild Swans at Coole.
d.
Discuss Owen’s Futility as a moving study of “the pity of war”.

e.
Write a critical analysis of Auden’s Look Stranger.

2.
Answer any THREE of the following:



(2 x 3 = 6)

a.
What does Ulysses mean when he says “ I will drink / Life to the lees”?

b.
What, according to Ulysses, are the qualities of his son, Telemachus?

c.
How does the lover try to prove that his last ride is superior to the beautiful statue 
of the sculptor?

d.
In what sense are the distant ships like ‘seeds’ in Auden’s Look Stranger? Where 
are the ships going?
e.
Explain very briefly what De la Mare meant when he gave his poem the title ‘Fare 
Well’.

f.
What do the swans stand for in Yeats’s The Wild Swans at Coole?

g.
Why does Owen say in Futility: “Was it for this the clay grew tall?”

3.
Answer any ONE of the following:





   [12 ]

a.
Compare and contrast the characters of Antonio and Bassanio in The Merchant of 
Venice.

b.
Give an account of the Trial Scene (IV.i) in The Merchant of Venice from the 
point when Portia enters the court disguised as Balthazar. Is the Duke’s sentence 
on Shylock too harsh?
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4.
Explain with reference to the context any ONE :



   [ 6 ]

a.
I must needs tell thee all. She hath directed


How I shall take her from her father’s house,


What gold and jewels she is furnished with,


What page’s suit she hath in readiness.

b.
What ring gave you, my lord?


Not that, I hope, which you receiv’d of me?

5.
Read the following passage carefully and answer the questions set below as far as 
possible in your own words:




               [ 3 x 4 =12 ]


Sri Lanka is a divided country.  In the north and east the people are mainly 
Tamils, and their religion is Hinduism.  In the rest of the country the people are 
Sinhalese.  Their religion is Buddhism and they are the dominant people.  
However, historically, they were not dominant in business, education and in the 
government.  The Sinhalese claim that this was so because their British colonial 
masters favoured the Tamils. The Tamils say their high socioeconomic status is 
due to merit. Whatever the case things began to change after Sri Lanka (formerly 
Ceylon) got its independence from Britain. Now the numerically dominant 
Sinhalese passed laws favouring themselves rather than the Tamils.  The most 
important of these laws was the Sinhala Only Act of 1956.  That act made Sinhala 
the official language of the country and it became difficult for any non-Sinhalese 
to hold government jobs.  The act also changed university admissions policies to 
favour Sinhalese over Tamil students.  By the 1970s relations between the Tamils 
and the Sinhalese had gone from bad to worse. The government encouraged a 
‘land grab’ policy that displaced many Tamils from their homes and lands, and a 
political party called the Tamil United Liberation Front was both outlawed and 
denied seats in the Sri Lankan parliament.  Soon after in retaliation younger 
Tamils began to resort to violence and people were killed. They were members of 
a group calling themselves the Liberation Tigers of Tamil Eelam (LTTE).  One 
such act of violence led to the death of thirteen soldiers.  Since then the conflict 
between the Sinhalese and Tamils has intensified.

a.
What, according to the writer, are the differences between the Sinhalese 


and Tamils?


b.
What was the outcome of the Sinhala Only Act of 1956?


c.
Why did the relations between the Sinhalese and Tamils grow from bad to 


worse and how did the Tamils respond?

*-*-*-*-*-*-*-*-*-*-*-*-*-*
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